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Q1- A shopkeeper sells one type of rice at Rs 16 per kg and losses 20% and on
another type of rice at Rs 25/kg and makes a profit of 25%. If he mixes both rice in

equal proportion and sells them at Rs 24/kg then find his profit percentage.
Q1- T EhTHET Ush kT o =ITeled i 16 T Ui fehetIme &t & & srerdT @ 371X 20%

ohl BT SITH TR o =Tl 0T 25 TR/ foheliaT sht a0 & sIerd1 e 371 25% ol ATy
FUTAT 8| AfS T AT ATIAT ] FHH ST H FHATAT & SR 378 24 TR/ FRIT hT T H
ST 8 Al 3HehT T IaTd JTd hifs/)

A. 20%
B. 25%
C. 10%
D. 15%
E

None of these
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Q2- P and Q can fill a tank 1n 40 hr and 50 hr respectively and R can empty it in
20 hr. If P and Q works for 1% hour and Q and R works for 2" hour and so on.
They worked for 50 hr after that only R works then find total time taken by R to

empty the tank.

Q2- P 37T Q Teh Zohl ol SHATT: 40 S 3T 50 8¢ H YL Fohd & TR THT R 208 |
WAl L HehdT &1 Afe P S Q Ueet H oh folt 3h1H #htd § 371 Q 3TN R gaL B¢ o o
hTH L & ST HT TRl 3814 50 He Toh RT3 [ohAT 3ok SITE haled R 1 shidT & I

Eoh1 ! @it i | R I T 11 et | Tt <hifsial 12 hr

7 hr 30 min
6 hr 40 min
18 hr

None of these

m o 0w
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Q3- A man divided his money in three parts in ratio 2 : 3 : 5 at 10%, 12% and 16%
per annum simple interest. Find the money deposited in third part if after one year

interest received form first bank is Rs 10,000.
57 3. Ueh S1<h STUT GXIRT 3T 10%, 12% 3R 16% TN ATIRUT SISl sl & 2: 3 : 5

o ST H o= 9T H SledT 8] S 9T H SHT 6 JT shifSIg Afe Teh oY o S8 U8t sidh
9 ITH SIS 10,000 9 2

Rs 20,0000
Rs 40,0000
Rs 50,0000
Rs 25,0000

None of these

m o 0w
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Question 4-
i) 2x*-15x+28=0
(i) 2y* -18y+40=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 5-
i) x*-37x+312=0
(i) y* -33y+216=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 6-
i) x*-16x+64=0
(i) 3y* -14y+11=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 7-
i) 9x*-9x+2=0
(i) 6y* -25y+14=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 8-
i) x*-20x+91=0
(i) 3y* -22y+7=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Q9- A bag contains 15 red balls and 10 blue balls out of which 4 red and 2 blue
ball are defective. If two balls are drawn at random then what 1s the probability

that either both are red or both are good.

Q9. TH ST H |5 TTeT Tia 3R 10 fieft 1< & 5w § 4 T1eT 3R 2 Aiedt 776 3ot &

NN

¢ 3T TG ATg ook &Y H HehTail SITd &, T $Heh! JTRISHdT 9T & 1o JT Al SFT Tl &

IqT T 3T 27

121/300
221/500
231/300
PPAVRIY

None

m o 0w
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Q10- Find the wrong term in the given series.

5 10- 3T 718 2G| TTeld U8 J1d shitoig|
24, 30,33, 39,51, 58

m o N>

24
30
39
58
51
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Q11- Find the wrong term in the given series.

57 11- 31 718 2G| TTeld U8 1 shitoig|
3,9,36, 190, 1080, 7560

m o N>

24
30
39
58
51
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Q12- Find the wrong term in the given series.

T 12- 31 718 2G| TTeld U8 J1d ehitoig)|
2,3,6,15,45, 1555

14
45
1555

Mo 0w >
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Q13- Find the wrong term in the given series.

T 12- 31 718 2G| TTeld U8 J1d ehitoig)|
3,4,8,17,18, 21,31

Mo 0w >

18
21
31
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Q14- Find the amount on a sum of Rs 8000 at 8% per annum compound

interest for 2 years.

14. 8000 FTJ <1 TFRT W 2 T o TeTT 8% Aok TAshaleg, sATST 3hl &L | TR J1d
EAIEI

Rs 1331.2
Rs 1122.2
Rs 2231.2
Rs 9331.2

O O w >
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Q 15-88% 014400 + 25% of 4240+ 12% of 156250= "7

Mo 0w >

12766
24456
17662
18266

None of these
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